Supplement 2: Simulation of Reproductive Senescence in Drosophila
Inputs: Mean RLS (reproductive life span)


Standard deviation of RLS


Day of peak fecundity (EQday)


Level of fecundity at the peak (EQegg)

The simulation uses Systat version 10.2:

basic

new

use c:\users\jwc\desktop\sim.syd

let RLS=42

let SD=15

let EQday=12

let EQegg=26.4

for i=1 to 1000

let z=zrn(RLS,SD)

next

for k=EQday +1 to 80

if z>=k then let d(k)=int(Eqegg*(1- (1/(z-EQday)) * (k-eqday)))

next

run 

output*
Explanation:
Sim.syd is a Systat data file with 1000 rows (one for each fly) and 80 columns d(1) – d(80) (one for each day of adult life). The simulation fills the array with numbers of eggs produced by each female each day.

Z is drawn from a normal distribution with mean RLS and standard deviation SD. It represents an individual fly’s reproductive life span.

Starting after the peak day (EQday + 1), the program calculates an integer-valued daily number of eggs for each fly using the age and the slope of the fecundity trajectory from  the point (EQday, EQegg) to the point (individual RLS, 0). No eggs are produced at ages greater than the individual’s RLS. 

